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Time: Three Hours Maximum: 100 marks
ANSWER ALL QUESTIONS
PART—A (10x2=20 marks)

1. Define work study.
2. What are therbligs?
3.  What is meant by Process Planning?
4. List the two type of CAPP system.
5.  What is manufacturing logic?
6.  Define costing.
7. List the types of estimates.
8. What do you understand by budgetary estimates?

9. What is administrative overhead?

10. Distinguish between direct labour cost and indirect labous
cost.
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PART—B (6x16=80 marks)

(i Explain the purpose of work study.
(i) Explain the types of allowances.
Or

(i) What is meant by ergonomics? Describe
the objectives of the study of ergonomics.

(i) Discuss the importance of ergonomics by
mentioning various areas of application.

List and explain process planning activities.
Or

What do you understand by CAPP? Explain in

detail about the types of CAPP and mention

the benefits of CAPP.

(i) State and explain the objectives of cost
estimation.

(iiy What are the different methods of
costing? Explain.

Or
i) Differentiate Estimating and Costing.
@) Classify indirect expenses or overheads.
Explain the various methods of estimates.
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Discuss data requirements and sources
for cost estimation.

Write short notes on cost allowances in
estimation.

A certain piece of work is produced by a
firm in batches of 100. The direct
materials cost for that 100 piece work is
Rs.160 and the direct labour cost is
Rs.200. Factory on cost is 35% of the total
material and labour cost. Overhead
charges are 20% of the factory cost.
Calculate the prime cost and factory cost.
If the management wants to make a
profit of 10% on the gross cost, determine
the selling price of each article.

A C.I factory employees 25 persons. It
consumes material worth Rs.35, 000 and
pays workers at the rate of Rs.5 per hour
and incurs total overheads of Rs.20, 000.
In a particular month (25 days) workers
had an overtime of 150 hours and were
paid double than the normal rate. Find
(a) The total cost, and

(b) The man hour rate of overheads.
Assume an 8 hours working days.

Or
A bar stock of 3cm diameter and 2m long
is to be converted into
(a) Square bar 3c¢m side,

(b) Hexagonal bar 3cm side, and
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[image: image4.png]" (c) Rectangular bar of sides 3cmx2Zcm.
calculate the length of bar made in each
case. Assume hand forging and neglect
losses.

(i) Explain the estimation of ‘foundry cost’.
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